
Subject: Re: A little help
Posted by greg.addr on Thu, 10 May 2012 12:34:28 GMT
View Forum Message <> Reply to Message

nata's solution doesn't work...

IDL> print,b
       1       1       1       1       2       2       2       2
       1       1       1       1       2       2       2       2
       1       1       1       1       2       2       2       2
       1       1       1       1       2       2       2       2
       5       5       7       7       5       5       7       7
       3       3       3       3       3       3       3       3
       6       6       8       8       3       3       3       3
       6       6       8       8       3       3       3       3

I suppose one of the rules must be that number blocks are 'rigid'. But that's still not enough... the
7- and 8-blocks could equally move upwards between the 1- & 2-blocks, giving a result that's not
square. So then you need a condition that the final result is square, which seems like a game to
me. Nice puzzle, though!
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